Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

HereHer			Engineer's Estimate \$2,225,000.00				Columbus Asphalt Paving, Inc.		Decker Construction		Strawser Pav	ving Co., Inc.	. Shelly and Sands Inc.		
International problem Internatinternatinternational problem International prob							1196 Technology Drive		3040 McKinley Avenue		• 1595 Frank Road		1515 Harm	on Avenue	
Image Cost Image: Test Present Image: Test Prese									614-488-7958		614-276-5273		614-444-5100		
ILIDE DELC DELC <thdelc< th=""> DELC DELC <th< th=""><th></th><th></th><th></th><th></th><th></th><th></th><th></th><th>-9800</th></th<></thdelc<>								-9800							
2 202 CLIRIA AND GUITER REMOVED 1:00 91 91:00 91:100 91:20	<u>ITEM</u>	<u>SPEC</u>	<u>CMS</u>	DESCRIPTION	QUANTITY	QUANTITY UNIT		Total		Total		Total		Total	
3 202 CURB REMOVED 60 FT 58.66 44.220 110.70 58.85.0 53.25 119.20 119.00 190.00 4 202 PARKEMOVED AS DIRECTED 119.6 5Y 51.125 61.75.00 52.70 51.20 54.200 52.10 52.100 52.10 52.10 52.100 52.10 52.100 52.10 52.100 52.10 52.100 52.10 52.100 52.10 52.100 52.10 52.100 52.10 52.100 52.00 52.10 52.100 52.00 52.10 52.00 5	1	201		TREE TRIMMING, AS DIRECTED	5	EA	\$210.00	\$1,050.00	\$400.00	\$2,000.00	\$300.00	\$1,500.00	\$600.00	\$3,000.00	
4 202 PAREMENT NEMOVED. AS DIFFECTED 196 SY \$11.25 \$11.700 \$18.700 \$18.700 \$18.700 \$12.00	2	202		CURB AND GUTTER REMOVED	1,100	FT	\$10.00	\$11,000.00	\$11.00	\$12,100.00	\$3.25	\$3,575.00	\$13.00	\$14,300.00	
5 202 WALKREMOVED 11,000 5F 51,70 516,700,00 53,20 552,200 52,10 52,100,00 53,00 53,000 53,000 552,000 52,10 52,100,00 53,000 52,000<	3	202		CURB REMOVED	50	FT	\$8.65	\$432.50	\$16.70	\$835.00	\$3.25	\$162.50	\$16.00	\$800.00	
6 203 SELECT GRANULAR BACKFUL NO 1STORE 70301 25 CY 442.00 \$1,02.00 \$50.00 \$77.000 \$88.00 \$22.000 7 203 SELECT GRANULAR BACKFUL NO 2STORE. 70.011 24 CY \$44.00 \$1,125.00 \$35.60 \$87.00 \$87.00 \$88.00 \$22.000 8 204 EXXAVATION OF SUBGRADE. AS DIRECTED 50 CY \$50.000 \$50.00	4	202		PAVEMENT REMOVED, AS DIRECTED	156	SY	\$11.25	\$1,755.00	\$26.75	\$4,173.00	\$32.00	\$4,992.00	\$12.00	\$1,872.00	
7 203 SELECT GRAANLAR BACKFLL NO 2 STONE 70.01 25 CV 64.60 51.125.00 535.50 5887.50 530.00 577.00 588.00 52.200.00 8 204 EXXAVATION OF SUBGRADE, AS DIRECTED 59 CY \$50.00 \$17.00 \$160.00 \$10.60 \$10.70 \$10.60 \$10.70 \$10.00 <t< td=""><td>5</td><td>202</td><td></td><td>WALK REMOVED</td><td>11,000</td><td>SF</td><td>\$1.70</td><td>\$18,700.00</td><td>\$3.20</td><td>\$35,200.00</td><td>\$2.10</td><td>\$23,100.00</td><td>\$3.00</td><td>\$33,000.00</td></t<>	5	202		WALK REMOVED	11,000	SF	\$1.70	\$18,700.00	\$3.20	\$35,200.00	\$2.10	\$23,100.00	\$3.00	\$33,000.00	
8 204 EXCAVATION OF SUBGRADE, AS DIRECTED 50 CY \$30.00 \$17.00 \$80.00 \$40.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00 \$20.000 \$80.00<	6	203		SELECT GRANULAR BACKFILL, NO 1 STONE, 703.01	25	CY	\$42.50	\$1,062.50	\$40.50	\$1,012.50	\$30.00	\$750.00	\$88.00	\$2,200.00	
9 251 PARTIAL DEPTH-PAVEMENT REPAR, 7 WIDE AND GREATER 25 SV \$60.00 \$1,200.00 \$16.00 \$1	7	203		SELECT GRANULAR BACKFILL, NO 2 STONE, 703.01	25	CY	\$45.00	\$1,125.00	\$35.50	\$887.50	\$30.00	\$750.00	\$88.00	\$2,200.00	
10 251 PARTNAL DEPTH PAVEMENT REPAR, LESS THAN 7 WIDE 7 SY 370 00 \$440.00 \$503.50 \$475.00 \$3.325.00 \$100.00 3700.00 11 252 FULL DEPTH PAVEMENT SAWING, AS DIRECTED 172 FT \$4.40 \$503.00 \$10.200 <	8	204		EXCAVATION OF SUBGRADE, AS DIRECTED	50	CY	\$30.00	\$1,500.00	\$17.80	\$890.00	\$40.00	\$2,000.00	\$50.00	\$2,500.00	
11 252 FULL DEPTH PAVEMENT SAWING, AS DIRECTED 172 FT 54.40 \$825.60 \$44.00 \$808.00 \$10.00 \$1.72.00 \$6.00 \$1.02.00 12 233 PAVEMENT REPAIR, 7 WIDE AND GREATER 260 SY \$865.00 \$13.00.00 \$81.86 \$21.283.80 \$140.00 \$560.00 \$13.00.00 13 253 PAVEMENT REPAIR, 7 WIDE AND GREATER, CONCRETE BASE 195 SY \$90.00 \$13.950.00 \$82.19 \$12.73.94.5 \$75.00 \$11.625.00 \$13.075.00 14 253 PAVEMENT REPAIR, LESS THAN 7 WIDE, CONCRETE BASE 20 SY \$101.00 \$2.020.00 \$100.92 \$2.010.04 \$2.020.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.000.00 \$100.92 \$2.00 \$10.900.00 \$100.92 \$2.00 \$10.900.00 \$10.900.00 \$10.900.00 \$10.900.00 \$10.900.00 \$10.900.00	9	251		PARTIAL DEPTH PAVEMENT REPAIR, 7' WIDE AND GREATER	25	SY	\$60.00	\$1,500.00	\$50.60	\$1,265.00	\$155.00	\$3,875.00	\$85.00	\$2,125.00	
12 253 PAVEMENT REPAIR, 7 WIDE AND GREATER 200 SY \$65.00 \$16.800.00 \$11.86 \$21.283.00 \$14.00 \$36,400.00 \$50.00 \$13.000.00 13 253 PAVEMENT REPAIR, 7 WIDE AND GREATER, CONCRETE BASE 155 SY \$00.00 \$13.090.00 \$82.19 \$12.739.45 \$75.00 \$11.625.00 \$85.00 \$13.050.00 14 253 PAVEMENT REPAIR, LESS THAN 7 WIDE 11 SY \$126.00 \$10.52 \$2.010.40 \$80.00 \$16.60.00 \$16.60.00 \$16.00.00 <td< td=""><td>10</td><td>251</td><td></td><td>PARTIAL DEPTH PAVEMENT REPAIR, LESS THAN 7' WIDE</td><td>7</td><td>SY</td><td>\$70.00</td><td>\$490.00</td><td>\$90.50</td><td>\$633.50</td><td>\$475.00</td><td>\$3,325.00</td><td>\$100.00</td><td>\$700.00</td></td<>	10	251		PARTIAL DEPTH PAVEMENT REPAIR, LESS THAN 7' WIDE	7	SY	\$70.00	\$490.00	\$90.50	\$633.50	\$475.00	\$3,325.00	\$100.00	\$700.00	
13 253 PAVEMENT REPAR, T. WIDE AND GREATER, CONCRETE BASE 155 SY \$90.00 \$13.950.00 \$82.19 \$12.739.45 \$75.00 \$11.025.00 \$85.00 \$11.175.00 14 253 PAVEMENT REPAR, LESS THAN 7 WIDE 11 SY \$125.00 \$1.375.00 \$15.4.62 \$1.70.82 \$425.00 \$4.475.00 \$11.00 \$2.000.00 15 253 PAVEMENT REPAR, LESS THAN 7 WIDE, CONCRETE BASE 20 SY \$101.00 \$2.020.00 \$100.52 \$2.010.40 \$80.00 \$11.800.00 \$11.800.00 \$14.3762.00 16 254 PAVEMENT PLANING, 1.127, ASPHALT CONCRETE 18.862 SY \$2.80 \$52.300.60 \$2.33 \$43.902.70 \$2.10 \$38.222.20 \$2.27 \$51.375.00 18 254 PAVEMENT PLANING, ASPHALT CONCRETE, SPOT, AS DIRECTED 25 SY \$21.00 \$552.00 \$50.00 \$12.500.00 \$16.00 \$40.00 19 304 AGGREGATE BASE, AS DIRECTED 25 SY \$21.00 \$565.00 \$12.500.00 \$16.00 <	11	252		FULL DEPTH PAVEMENT SAWING, AS DIRECTED	172	FT	\$4.80	\$825.60	\$4.00	\$688.00	\$10.00	\$1,720.00	\$6.00	\$1,032.00	
14 253 PAVEMENT REPAR, LESS THAN 7 WIDE 11 SY \$125.00 \$1375.00 \$154.62 \$1,700.82 \$425.00 \$4675.00 \$150.00 \$1,650.00 15 253 PAVEMENT REPAR, LESS THAN 7 WIDE, CONCRETE BASE 20 SY \$1910.00 \$2,200.00 \$100.52 \$2,010.40 \$80.00 \$1,600.00 \$130.00 \$2,200.00 16 254 PAVEMENT PLANING, 1-12', ASPHALT CONCRETE 57,513 SY \$195 \$112,150.35 \$17.3 \$99,477.49 \$1.60 \$92,202.00 \$2,25 \$143,762.50 17 254 PAVEMENT PLANING, 3', ASPHALT CONCRETE 18,682 SY \$2.80 \$52,300.80 \$2.35 \$43,902.70 \$2.10 \$39,202.00 \$16.00 \$400.00 19 304 AGGREGATE BASE, AS DIRECTED 25 CY \$43.00 \$11075.00 \$31.50 \$787.50 \$30.00 \$750.00 \$50.00 \$120.00 20 401 ASPHALT CONCRETE, BASE, AS DIRECTED 25 CY \$43.00 \$1107.50 \$31.60 \$165.00	12	253		PAVEMENT REPAIR, 7' WIDE AND GREATER	260	SY	\$65.00	\$16,900.00	\$81.86	\$21,283.60	\$140.00	\$36,400.00	\$50.00	\$13,000.00	
15 253 PAVEMENT REPAIR, LESS THAN 7 WIDE, CONCRETE BASE 20 SY \$101.00 \$2.020.00 \$100.52 \$2.01.40 \$80.00 \$1.600.00 \$1.30.00 \$2.600.00 16 254 PAVEMENT PLANING, 1-1/2', ASPHALT CONCRETE 57.513 SY \$1.95 \$112.150.35 \$1.73 \$99.497.40 \$1.80 \$92.020.80 \$2.25 \$\$143,762.50 17 254 PAVEMENT PLANING, 3', ASPHALT CONCRETE 18.882 SY \$2.80 \$52.500 \$50.00 \$1.250.00 \$51.00 \$400.00 19 304 AGGREGATE BASE, AS DIRECTED 25 SY \$21.00 \$565.00 \$31.50 \$775.00 \$10.000 <	13	253		PAVEMENT REPAIR, 7' WIDE AND GREATER, CONCRETE BASE	155	SY	\$90.00	\$13,950.00	\$82.19	\$12,739.45	\$75.00	\$11,625.00	\$85.00	\$13,175.00	
16 254 PAVEMENT PLANING, 1-1/2', ASPHALT CONCRETE 57,513 SY \$1.95 \$112,150.35 \$1.73 \$99,497.49 \$1.60 \$92,020.80 \$2.50 \$143,782.50 17 254 PAVEMENT PLANING, 3', ASPHALT CONCRETE 18.682 SY \$2.80 \$52,309,60 \$2.35 \$43,902.70 \$2.10 \$39,232.20 \$2.75 \$51,375.50 18 254 PAVEMENT PLANING, ASPHALT CONCRETE, SPOT, AS DIRECTED 25 SY \$2.40 \$1,250.00 \$10.00 \$1250.00 \$16.00 \$400.00 19 304 AGGREGATE BASE, AS DIRECTED 25 CY \$43.00 \$1,075.00 \$31.50 \$767.50 \$30.00 \$750.00 \$60.00 \$14.200.00 20 401 ASPHALT CONCRETE, SUR COURSE, TYPE 1 (448) 3.953 CY \$162.10 \$162,10.00 \$165.96 \$16,000 \$16.00 \$16.00 \$16.00 \$12.00.00 \$15.00.00 \$12.00.00 \$15.00.00 \$16.00 \$16.00 \$16.00.00 \$16.00 \$12.00.00 \$12.50.00 \$2.14.00 \$12.50.00	14	253		PAVEMENT REPAIR, LESS THAN 7' WIDE	11	SY	\$125.00	\$1,375.00	\$154.62	\$1,700.82	\$425.00	\$4,675.00	\$150.00	\$1,650.00	
17 254 PAVEMENT PLANING, 3", ASPHALT CONCRETE 18.882 SY \$2.80 \$52.306.60 \$2.35 \$43,902.70 \$2.10 \$39,232.20 \$2.75 \$51,375.50 18 254 PAVEMENT PLANING, ASPHALT CONCRETE, SPOT, AS DIRECTED 25 SY \$21.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$51.20 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$1,250.00 \$50.00 \$51.25 \$50.00 \$51.25 \$50.00 \$50.00 \$51.20 \$50.00	15	253		PAVEMENT REPAIR, LESS THAN 7' WIDE, CONCRETE BASE	20	SY	\$101.00	\$2,020.00	\$100.52	\$2,010.40	\$80.00	\$1,600.00	\$130.00	\$2,600.00	
18 254 PAVEMENT PLANING, ASPHALT CONCRETE, SPOT, AS DIRECTED 25 SY \$21.00 \$525.00 \$50.00 \$1,250.00 \$1,250.00 \$1,250.00 \$400.00 19 304 AGGREGATE BASE, AS DIRECTED 25 CY \$43.00 \$1,075.00 \$31.50 \$787.50 \$30.00 \$750.00 \$1,250.00 \$1,250.00 \$1,250.00 \$1,075.00 \$1,075.00 \$31.05 \$787.50 \$30.00 \$1,075.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 \$1,00.00 <td>16</td> <td>254</td> <td></td> <td>PAVEMENT PLANING, 1-1/2", ASPHALT CONCRETE</td> <td>57,513</td> <td>SY</td> <td>\$1.95</td> <td>\$112,150.35</td> <td>\$1.73</td> <td>\$99,497.49</td> <td>\$1.60</td> <td>\$92,020.80</td> <td>\$2.50</td> <td>\$143,782.50</td>	16	254		PAVEMENT PLANING, 1-1/2", ASPHALT CONCRETE	57,513	SY	\$1.95	\$112,150.35	\$1.73	\$99,497.49	\$1.60	\$92,020.80	\$2.50	\$143,782.50	
19 304 AGGREGATE BASE, AS DIRECTED 25 CY \$43.00 \$1,075.00 \$31.50 \$787.50 \$30.00 \$750.00 \$1,250.00 20 401 ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) 3,953 CY \$162.10 \$640,781.30 \$165.96 \$660,039.88 \$175.00 \$691,775.00 \$140.00 \$553,420.00 21 401 PRE-LEVELING COURSE, AS DIRECTED 100 CY \$162.10 \$161,210.00 \$165.96 \$660,039.88 \$175.00 \$140.00 \$150.00	17	254		PAVEMENT PLANING, 3", ASPHALT CONCRETE	18,682	SY	\$2.80	\$52,309.60	\$2.35	\$43,902.70	\$2.10	\$39,232.20	\$2.75	\$51,375.50	
20 401 ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448) 3,953 CY \$162.10 \$640,781.30 \$165.96 \$665,039.88 \$175.00 \$691,775.00 \$140.00 \$553,420.00 21 401 PRE-LEVELING COURSE, AS DIRECTED 100 CY \$162.10 \$16,210.00 \$165.96 \$16,596.00 \$180.00 \$150.	18	254		PAVEMENT PLANING, ASPHALT CONCRETE, SPOT, AS DIRECTED	25	SY	\$21.00	\$525.00	\$50.00	\$1,250.00	\$50.00	\$1,250.00	\$16.00	\$400.00	
21 401 PRE-LEVELING COURSE, AS DIRECTED 100 CY \$162.10 \$165.96 \$16,596.00 \$18,000.00 \$150.00 \$160.00 \$100.00 \$100.00 <td>19</td> <td>304</td> <td></td> <td>AGGREGATE BASE, AS DIRECTED</td> <td>25</td> <td>CY</td> <td>\$43.00</td> <td>\$1,075.00</td> <td>\$31.50</td> <td>\$787.50</td> <td>\$30.00</td> <td>\$750.00</td> <td>\$50.00</td> <td>\$1,250.00</td>	19	304		AGGREGATE BASE, AS DIRECTED	25	CY	\$43.00	\$1,075.00	\$31.50	\$787.50	\$30.00	\$750.00	\$50.00	\$1,250.00	
22 407 TACK COAT, TRACKLESS TACK (0.07 GAL/SY) 5,340 GAL \$4.85 \$25,899.00 \$4.70 \$25,098.00 \$4.75 \$25,365.00 \$4.00 \$21,360.00 23 417 COLS ASPHALT EMULSION SLURRY SEAL, TYPE II 17,619 SY \$2.40 \$42,285.60 \$2.47 \$43,518.93 \$3.20 \$56,380.80 \$3.25 \$57,261.75 24 417 COLS STREET SWEEPING, AS DIRECTED 5 HR \$125.00 \$665.00 \$145.00 \$725.00 \$160.00 \$800.00 25 423 CRACK SEALANT, RUBBERIZED 40,310 LB \$1.50 \$660,465.00 \$1.52 \$61,271.20 \$11.76 \$70,945.60 \$0.95 \$38,294.50 26 452 6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 156 SY \$70.00 \$10,920.00 \$48.75 \$7,605.00 \$66.00 \$10,140.00 \$55.00 \$88,00.00 27 452 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 10 SY \$80.00 \$800.00 \$66.10 \$66.10 \$66.10 \$66.00 \$10,140.00 \$275.00 \$19,925	20	401		ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448)	3,953	CY	\$162.10	\$640,781.30	\$165.96	\$656,039.88	\$175.00	\$691,775.00	\$140.00	\$553,420.00	
23 417 COLS ASPHALT EMULSION SLURRY SEAL, TYPE II 17,619 SY \$2.40 \$42,285.60 \$2.47 \$43,518.93 \$3.20 \$56,380.80 \$3.25 \$57,261.75 24 417 COLS STREET SWEEPING, AS DIRECTED 5 HR \$125.00 \$6625.00 \$132.00 \$660.00 \$145.00 \$725.00 \$160.00 \$800.00 25 423 CRACK SEALANT, RUBBERIZED 40,310 LB \$1.50 \$60,465.00 \$1.52 \$61,271.20 \$1.76 \$70,945.60 \$0.95 \$38,294.50 26 452 6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 156 SY \$70.00 \$10,920.00 \$48.75 \$7,605.00 \$62.00 \$80.00 \$800.00 27 452 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 10 SY \$800.00 \$66.10 \$66.10 \$62.00 \$62.00 \$800.00 \$800.00 28 604 COLS CURB INLET ADJUSTED TO GRADE 7 EA \$145.00 \$1,015.00 \$200.00 \$1,134.00 \$275.00 \$1,925.00 \$1,925.00 \$1,925.00 \$29,6	21	401		PRE-LEVELING COURSE, AS DIRECTED	100	CY	\$162.10	\$16,210.00	\$165.96	\$16,596.00	\$180.00	\$18,000.00	\$150.00	\$15,000.00	
24 417 COLS STREET SWEEPING, AS DIRECTED 5 HR \$125.00 \$660.00 \$145.00 \$725.00 \$160.00 \$800.00 25 423 CRACK SEALANT, RUBBERIZED 40,310 LB \$1.50 \$60,465.00 \$1.52 \$61,271.20 \$1.76 \$70,945.60 \$0.95 \$38,294.50 26 452 6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 156 SY \$70.00 \$10,920.00 \$48.75 \$7,605.00 \$662.00 \$80,00 \$80.00 27 452 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 10 SY \$80.00 \$661.00 \$662.00 \$80.00 \$800.00 28 604 COLS CURB INLET ADJUSTED TO GRADE 7 EA \$145.00 \$1,015.00 \$200.00 \$18,375.00 \$10,925.00 \$18,375.00 \$10,925.00 \$12,134.00 \$275.00 \$19,250.00 29 604 COLS CURB INLET RECONSTRUCTED TO GRADE 49 EA \$525.00 \$25,725.00 \$650.00 \$31,850.00	22	407		TACK COAT, TRACKLESS TACK (0.07 GAL/SY)	5,340	GAL	\$4.85	\$25,899.00	\$4.70	\$25,098.00	\$4.75	\$25,365.00	\$4.00	\$21,360.00	
25 423 CRACK SEALANT, RUBBERIZED 40,310 LB \$1.50 \$60,465.00 \$1.52 \$61,271.20 \$1.76 \$70,945.60 \$0.95 \$38,294.50 26 452 6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 156 SY \$70.00 \$10,920.00 \$48.75 \$7,605.00 \$65.00 \$10,140.00 \$55.00 \$8,580.00 27 452 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 10 SY \$80.00 \$66.10 \$66.100 \$62.00 \$80.00 \$800.00 28 604 COLS CURB INLET ADJUSTED TO GRADE 7 EA \$145.00 \$1,015.00 \$200.00 \$1,400.00 \$162.00 \$1,925.00 29 604 COLS CURB INLET RECONSTRUCTED TO GRADE 49 EA \$525.00 \$25,725.00 \$31,850.00 \$375.00 \$10,65.00 \$52,185.00	23	417	COLS	ASPHALT EMULSION SLURRY SEAL, TYPE II	17,619	SY	\$2.40	\$42,285.60	\$2.47	\$43,518.93	\$3.20	\$56,380.80	\$3.25	\$57,261.75	
26 452 6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 156 SY \$70.00 \$10,920.00 \$48.75 \$7,605.00 \$65.00 \$10,140.00 \$55.00 \$86,80.00 27 452 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 10 SY \$80.00 \$66.10 \$66.100 \$62.00 \$800.00 \$800.00 28 604 COLS CURB INLET ADJUSTED TO GRADE 7 EA \$145.00 \$1,015.00 \$200.00 \$162.00 \$1,134.00 \$275.00 \$1,925.00 29 604 COLS CURB INLET RECONSTRUCTED TO GRADE 49 EA \$525.00 \$25,725.00 \$31,850.00 \$375.00 \$10,650.00 \$52,185.00	24	417	COLS	STREET SWEEPING, AS DIRECTED	5	HR	\$125.00	\$625.00	\$132.00	\$660.00	\$145.00	\$725.00	\$160.00	\$800.00	
27 452 8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS 10 SY \$80.00 \$66.10 \$661.00 \$62.00 \$80.00 \$800.00 28 604 COLS CURB INLET ADJUSTED TO GRADE 7 EA \$145.00 \$1,015.00 \$200.00 \$1,134.00 \$275.00 \$1,925.00 29 604 COLS CURB INLET RECONSTRUCTED TO GRADE 49 EA \$525.00 \$25,725.00 \$31,850.00 \$375.00 \$1,065.00 \$52,185.00	25	423		CRACK SEALANT, RUBBERIZED	40,310	LB	\$1.50	\$60,465.00	\$1.52	\$61,271.20	\$1.76	\$70,945.60	\$0.95	\$38,294.50	
28 604 COLS CURB INLET ADJUSTED TO GRADE 7 EA \$145.00 \$1,015.00 \$200.00 \$1,400.00 \$162.00 \$1,134.00 \$275.00 \$1,925.00 29 604 COLS CURB INLET RECONSTRUCTED TO GRADE 49 EA \$525.00 \$25,725.00 \$31,850.00 \$375.00 \$1,065.00 \$52,185.00	26	452		6" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS	156	SY	\$70.00	\$10,920.00	\$48.75	\$7,605.00	\$65.00	\$10,140.00	\$55.00	\$8,580.00	
29 604 COLS CURB INLET RECONSTRUCTED TO GRADE 49 EA \$525.00 \$355.00 \$375.00 \$18,375.00 \$1,065.00 \$52,185.00	27	452		8" NON-REINFORCED CONCRETE PAVEMENT, AS DIRECTED, CLASS QC MS	10	SY	\$80.00	\$800.00	\$66.10	\$661.00	\$62.00	\$620.00	\$80.00	\$800.00	
	28	604	COLS	CURB INLET ADJUSTED TO GRADE	7	EA	\$145.00	\$1,015.00	\$200.00	\$1,400.00	\$162.00	\$1,134.00	\$275.00	\$1,925.00	
30 604 COLS MANHOLE ADJUSTED TO GRADE 4 EA \$310.00 \$1,200.00 \$300.00 \$1,200.00 \$300.00 \$1,200.00 \$825.00 \$3,300.00	29	604	COLS	CURB INLET RECONSTRUCTED TO GRADE	49	EA	\$525.00	\$25,725.00	\$650.00	\$31,850.00	\$375.00	\$18,375.00	\$1,065.00	\$52,185.00	
	30	604	COLS	MANHOLE ADJUSTED TO GRADE	4	EA	\$310.00	\$1,240.00	\$300.00	\$1,200.00	\$300.00	\$1,200.00	\$825.00	\$3,300.00	

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

Did Date. March	Engineer's Estimate \$2,225,000.00			Columbus Asphalt Paving, Inc.		Decker Construction		Strawser Pav	/ing Co., Inc.	Shelly and Sands Inc.		
				1196 Technology Drive		3040 McKinley Avenue		ue 1595 Frank Road		1515 Harm	on Avenue	
				Gahanna, O	H 43230	Columbus, OH 43204		3204 Columbus, OH 43223		Columbus, Ohio 4322		
				614-759-	-9800	614-488-7958		614-276-5273 Unit Price		614-44 Unit Price	4-5100	
ITEM SPEC	CMS DESCRIPTION	QUANTITY	<u>UNIT</u>	Unit Price Labor &	Total	Unit Price Labor &	Total	Labor &	Total	Labor &	Total	
31 608	COLS 4" CONCRETE WALK	11,000	SF	\$6.70	\$73,700.00	\$5.50	\$60,500.00	\$5.25	\$57,750.00	\$5.00	\$55,000.00	
32 608	COLS 8" CONCRETE WALK	100	SF	\$7.85	\$785.00	\$8.60	\$860.00	\$5.50	\$550.00	\$8.00	\$800.00	
33 608	COLS CURB RAMP	55	EA	\$92.00	\$5,060.00	\$100.00	\$5,500.00	\$150.00	\$8,250.00	\$100.00	\$5,500.00	
34 609	3.5" DIAMETER CORED CURB	50	EA	\$48.00	\$2,400.00	\$30.00	\$1,500.00	\$32.00	\$1,600.00	\$50.00	\$2,500.00	
35 609	COMBINATION CURB AND GUTTER, AS PER PLAN, CLASS QC2	452	FT	\$27.50	\$12,430.00	\$36.23	\$16,375.96	\$25.00	\$11,300.00	\$25.00	\$11,300.00	
36 609	COMBINATION CURB AND GUTTER, CLASS QC2	1,100	FT	\$19.00	\$20,900.00	\$20.74	\$22,814.00	\$25.00	\$27,500.00	\$27.00	\$29,700.00	
37 609	COMBINATION CURB AND GUTTER, SPOT, CLASS QC2	7,790	FT	\$29.30	\$228,247.00	\$32.10	\$250,059.00	\$29.75	\$231,752.50	\$55.00	\$428,450.00	
38 609	CURB, CONCRETE BACKWALL, CLASS QC2	25	FT	\$53.00	\$1,325.00	\$27.65	\$691.25	\$23.00	\$575.00	\$22.65	\$566.25	
39 609	CURB, TYPE 6, CLASS QC2	50	FT	\$25.00	\$1,250.00	\$22.10	\$1,105.00	\$23.00	\$1,150.00	\$21.00	\$1,050.00	
40 609	CURB, TYPE 6, SPOT, CLASS QC2	50	FT	\$35.00	\$1,750.00	\$29.50	\$1,475.00	\$23.00	\$1,150.00	\$50.00	\$2,500.00	
41 611	3" CONDUIT, TYPE E, 707.46	250	FT	\$22.00	\$5,500.00	\$15.00	\$3,750.00	\$9.50	\$2,375.00	\$11.50	\$2,875.00	
42 614	LAW ENFORCEMENT OFFICER	48	HR	\$45.00	\$2,160.00	\$55.00	\$2,640.00	\$40.00	\$1,920.00	\$65.00	\$3,120.00	
43 614	MAINTAINING TRAFFIC	1	LS	\$21,000.00	\$21,000.00	\$30,000.00	\$30,000.00	\$25,000.00	\$25,000.00	\$101,000.00	\$101,000.00	
44 614	PORTABLE CHANGEABLE MESSAGE SIGN, AS DIRECTED	2	DAY	\$670.00	\$1,340.00	\$682.50	\$1,365.00	\$500.00	\$1,000.00	\$665.00	\$1,330.00	
45 624	MOBILIZATION	1	LS	\$25,000.00	\$25,000.00	\$30,000.00	\$30,000.00	\$48,000.00	\$48,000.00	\$100,000.00	\$100,000.00	
46 630	GROUND MOUNTED SUPPORT, NO. 3 POST	180	FT	\$22.60	\$4,068.00	\$23.10	\$4,158.00	\$22.00	\$3,960.00	\$24.00	\$4,320.00	
47 630	RELOCATION OF GROUND MOUNTED POST AND SIGN	4	EA	\$67.00	\$268.00	\$68.25	\$273.00	\$65.00	\$260.00	\$70.00	\$280.00	
48 630	REMOVAL OF GROUND MOUNTED POST AND DISPOSAL	12	EA	\$67.00	\$804.00	\$68.25	\$819.00	\$65.00	\$780.00	\$70.00	\$840.00	
49 630	REMOVAL OF GROUND MOUNTED SIGN AND DISPOSAL	12	EA	\$67.00	\$804.00	\$68.25	\$819.00	\$65.00	\$780.00	\$70.00	\$840.00	
50 630	SIGN, FLAT SHEET	144	SF	\$40.00	\$5,760.00	\$41.00	\$5,904.00	\$39.00	\$5,616.00	\$42.00	\$6,048.00	
51 642	BIKE LANE SYMBOL	60	EA	\$103.00	\$6,180.00	\$47.25	\$2,835.00	\$46.00	\$2,760.00	\$48.00	\$2,880.00	
52 642	CHANNELIZING LINE 8", TYPE 2	7,500	FT	\$0.75	\$5,625.00	\$0.42	\$3,150.00	\$0.42	\$3,150.00	\$0.45	\$3,375.00	
53 642	DOUBLE YELLOW LINE, TYPE 2	29	MI	\$715.00	\$20,735.00	\$987.00	\$28,623.00	\$975.00	\$28,275.00	\$1,000.00	\$29,000.00	
54 642	DUAL TURN LANE SKIP LINES, 2' - 4', TYPE 2	250	FT	\$0.75	\$187.50	\$0.58	\$145.00	\$0.57	\$142.50	\$0.60	\$150.00	
55 642	EDGE LINE, TYPE 2	16	MI	\$562.00	\$8,992.00	\$498.75	\$7,980.00	\$494.00	\$7,904.00	\$500.00	\$8,000.00	
56 642	HANDICAP SYMBOL, TYPE 2	4	EA	\$78.00	\$312.00	\$52.50	\$210.00	\$52.00	\$208.00	\$53.00	\$212.00	
57 642	LANE ARROW, TYPE 2	50	EA	\$72.00	\$3,600.00	\$42.00	\$2,100.00	\$41.50	\$2,075.00	\$43.00	\$2,150.00	
58 642	LANE LINE, TYPE 2	40	MI	\$450.00	\$18,000.00	\$315.00	\$12,600.00	\$312.00	\$12,480.00	\$320.00	\$12,800.00	
59 642	PAINTED ISLAND	150	SF	\$2.25	\$337.50	\$0.53	\$79.50	\$0.52	\$78.00	\$0.50	\$75.00	
60 642	PARKING LOT STALL MARKING, TYPE 2	1,500	FT	\$1.05	\$1,575.00	\$0.58	\$870.00	\$0.57	\$855.00	\$0.60	\$900.00	

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

	Engineer's Estimate \$2,225,000.00		Columbus Asphalt Paving, Inc.		Decker Construction		Strawser Pav	ring Co., Inc.	Shelly and Sands Inc.		
				1196 Technology Drive		3040 McKinley Avenue		e 1595 Frank Road		1515 Harmo	on Avenue
				Gahanna, OH 43230		Columbus, OH 43204		Columbus, OH 43223		Columbus, Ohio 43223	
				614-759- Unit Price	9800	614-488-7958		614-276-5273 Unit Price		614-444-5100 Unit Price	
ITEM SPEC CMS	DESCRIPTION	QUANTIT	<u>Y</u> <u>UNIT</u>	Labor &	Total	Unit Price Labor &	Total	Labor &	Total	Labor &	Total
61 642	REMOVAL OF PAVEMENT MARKING	500	FT	\$4.80	\$2,400.00	\$0.53	\$265.00	\$0.50	\$250.00	\$0.50	\$250.00
62 642	REMOVAL OF PAVEMENT MARKING BY PRESSURIZED WATER, AS DIRECTED	500	FT	\$4.80	\$2,400.00	\$3.57	\$1,785.00	\$3.40	\$1,700.00	\$3.60	\$1,800.00
63 642	SCHOOL SYMBOL MARKING	40	EA	\$255.00	\$10,200.00	\$231.00	\$9,240.00	\$228.00	\$9,120.00	\$235.00	\$9,400.00
64 642	SPEED BUMP AND WORD "BUMP", TYPE 2	20	EA	\$285.00	\$5,700.00	\$262.50	\$5,250.00	\$260.00	\$5,200.00	\$265.00	\$5,300.00
65 642	STOP LINE 24", TYPE 2	200	FT	\$2.85	\$570.00	\$3.15	\$630.00	\$3.25	\$650.00	\$3.20	\$640.00
66 642	WHITE TRANSVERSE LINE 12", TYPE 2	100	FT	\$2.60	\$260.00	\$1.05	\$105.00	\$1.10	\$110.00	\$1.00	\$100.00
67 642	WORD ON PAVEMENT (72"), TYPE 2	5	EA	\$82.00	\$410.00	\$68.25	\$341.25	\$70.00	\$350.00	\$70.00	\$350.00
68 642	YELLOW CENTERLINE (SOLID/DASH), TYPE 2	20	MI	\$695.00	\$13,900.00	\$777.00	\$15,540.00	\$740.00	\$14,800.00	\$785.00	\$15,700.00
69 642	YELLOW TRANSVERSE LINE 12", TYPE 2	100	FT	\$2.60	\$260.00	\$1.05	\$105.00	\$1.10	\$110.00	\$1.00	\$100.00
70 644	CHANNELIZING LINE 8"	8,700	FT	\$3.55	\$30,885.00	\$1.52	\$13,224.00	\$1.50	\$13,050.00	\$1.50	\$13,050.00
71 644	DUAL TURN LANE SKIP LINES, 2' - 4'	500	FT	\$3.50	\$1,750.00	\$1.37	\$685.00	\$1.40	\$700.00	\$1.40	\$700.00
72 644	LANE ARROW	10	EA	\$155.00	\$1,550.00	\$89.25	\$892.50	\$91.00	\$910.00	\$90.00	\$900.00
73 644	STOP LINE 24"	1,500	FT	\$7.15	\$10,725.00	\$5.78	\$8,670.00	\$5.75	\$8,625.00	\$5.85	\$8,775.00
74 644	WHITE TRANSVERSE LINE 12"	250	FT	\$7.00	\$1,750.00	\$4.20	\$1,050.00	\$4.30	\$1,075.00	\$4.25	\$1,062.50
75 644	WORD ON PAVEMENT, 72"	45	EA	\$205.00	\$9,225.00	\$103.95	\$4,677.75	\$105.00	\$4,725.00	\$105.00	\$4,725.00
76 644	YELLOW TRANSVERSE LINE 12"	800	FT	\$7.00	\$5,600.00	\$3.68	\$2,944.00	\$3.75	\$3,000.00	\$3.75	\$3,000.00
77 647	CROSSWALK LINE, 12", ENNIS-FLINT w/SKID OPTICS, 90-MIL	2,000	FT	\$11.70	\$23,400.00	\$8.93	\$17,860.00	\$9.00	\$18,000.00	\$9.00	\$18,000.00
78 659	WATER	50	MGAL	\$155.00	\$7,750.00	\$100.00	\$5,000.00	\$50.00	\$2,500.00	\$21.00	\$1,050.00
79 660 COL	S SODDING, AS DIRECTED	10	SY	\$11.00	\$110.00	\$50.00	\$500.00	\$6.00	\$60.00	\$25.00	\$250.00
80 804 COL	S IRON CASTINGS, AS DIRECTED	100	LB	\$2.00	\$200.00	\$2.00	\$200.00	\$3.75	\$375.00	\$5.50	\$550.00
81 807 COL	S VALVE BOXES, ADJUSTED TO GRADE	7	EA	\$435.00	\$3,045.00	\$1,000.00	\$7,000.00	\$35.00	\$245.00	\$700.00	\$4,900.00
82 1540 COL	S ASPHALT REJUVENATING AGENT	68,010	SY	\$0.88	\$59,848.80	\$0.89	\$60,528.90	\$0.89	\$60,528.90	\$0.90	\$61,209.00
83 1550 COL	S CURB RAMP, COST TO FINISH	55	EA	\$55.00	\$3,025.00	\$100.00	\$5,500.00	\$160.00	\$8,800.00	\$150.00	\$8,250.00
84 1551 COL	S DETECTABLE WARNING, TYPE "E"	55	EA	\$180.00	\$9,900.00	\$150.00	\$8,250.00	\$160.00	\$8,800.00	\$115.00	\$6,325.00
85 12005	ASPHALT JOINT REPAIR	50	FT	\$20.00	\$1,000.00	\$65.00	\$3,250.00	\$33.00	\$1,650.00	\$21.00	\$1,050.00
86 SPC	TENSAR, GEOGRID BX1300 (SS-3) OR APPROVED EQUAL	10	SY	\$7.75	\$77.50	\$6.00	\$60.00	\$15.00	\$150.00	\$25.00	\$250.00
	PARK PATHS / PARKING LOT TREATMENTS										
87 251	PARTIAL DEPTH PAVEMENT REPAIR, 7' WIDE AND GREATER	202	SY	\$46.00	\$9,292.00	\$39.16	\$7,910.32	\$56.00	\$11,312.00	\$23.00	\$4,646.00
88 251	PARTIAL DEPTH PAVEMENT REPAIR, LESS THAN 7' WIDE	656	SY	\$58.00	\$38,048.00	\$37.67	\$24,711.52	\$78.00	\$51,168.00	\$25.00	\$16,400.00
89 253	PAVEMENT REPAIR, 7' WIDE AND GREATER	239	SY	\$82.00	\$19,598.00	\$125.00	\$29,875.00	\$77.00	\$18,403.00	\$53.00	\$12,667.00

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

	Engineer's Estimate \$2,225,000.00			Columbus Asphalt Paving, Inc.		Decker Construction		Strawser Pav	/ing Co., Inc.	. Shelly and Sands Inc.		
				1196 Technology Drive		3040 McKinley Avenue		1595 Frank Road		1515 Harmon Avenue		
				Gahanna, OH 43230		Columbus, OH 43204		Columbus, OH 43223		Columbus, Ohio 43223		
				614-759-9	9800	614-488-7958		614-276-5273 Unit Price		614-444-5100 Unit Price		
ITEM SPEC CMS	DESCRIPTION	QUANTITY	UNIT	Unit Price Labor &	Total	Unit Price Labor &	Total	Labor &	Total	Labor &	Total	
90 253	PAVEMENT REPAIR, LESS THAN 7' WIDE	249	SY	\$97.00	\$24,153.00	\$136.25	\$33,926.25	\$102.00	\$25,398.00	\$72.00	\$17,928.00	
91 254	PAVEMENT PLANING IN PLACE, ASPHALT CONCRETE, AS PER PLAN	959	SY	\$4.35	\$4,171.65	\$3.18	\$3,049.62	\$10.50	\$10,069.50	\$5.00	\$4,795.00	
92 254	PAVEMENT PLANING, 1-1/2", ASPHALT CONCRETE	5,950	SY	\$3.10	\$18,445.00	\$2.82	\$16,779.00	\$2.40	\$14,280.00	\$3.00	\$17,850.00	
93 254	PAVEMENT PLANING, 3", ASPHALT CONCRETE	1,276	SY	\$4.10	\$5,231.60	\$6.59	\$8,408.84	\$4.93	\$6,290.68	\$4.00	\$5,104.00	
94 401	ASPHALT CONCRETE, SUR. COURSE, TYPE 1 (448)	451	CY	\$195.00	\$87,945.00	\$180.40	\$81,360.40	\$236.00	\$106,436.00	\$145.00	\$65,395.00	
95 407	TACK COAT, TRACKLESS TACK (0.07 GAL/SY)	542	GAL	\$5.50	\$2,981.00	\$4.70	\$2,547.40	\$4.75	\$2,574.50	\$4.00	\$2,168.00	
96 417 COLS	S ASPHALT EMULSION SLURRY SEAL, TYPE II	1,366	SY	\$2.40	\$3,278.40	\$2.47	\$3,374.02	\$3.15	\$4,302.90	\$3.00	\$4,098.00	
97 423	CRACK SEALANT, RUBBERIZED	1,414	LB	\$0.93	\$1,315.02	\$1.52	\$2,149.28	\$1.80	\$2,545.20	\$1.50	\$2,121.00	
98 423	CRACK SEALANT, TYPE 1	13,419	LB	\$0.93	\$12,479.67	\$1.63	\$21,872.97	\$0.97	\$13,016.43	\$1.50	\$20,128.50	
99 642	BIKE LANE SYMBOL	5	EA	\$103.00	\$515.00	\$68.25	\$341.25	\$70.00	\$350.00	\$70.00	\$350.00	
100 642	CENTERLINE, DASHED YELLOW, TYPE 2, BIKEPATH	10,007	FT	\$1.05	\$10,507.35	\$0.27	\$2,701.89	\$0.27	\$2,701.89	\$0.25	\$2,501.75	
101 642	CENTERLINE, SOLID YELLOW, TYPE 2, BIKEPATH	1,500	FT	\$0.95	\$1,425.00	\$0.27	\$405.00	\$0.27	\$405.00	\$0.25	\$375.00	
102 642	CHANNELIZING LINE 8", TYPE 2	174	FT	\$0.75	\$130.50	\$0.47	\$81.78	\$0.48	\$83.52	\$0.50	\$87.00	
103 642	CROSSWALK LINE 24", CONTINENTAL STYLE, TYPE 2	1,184	FT	\$3.60	\$4,262.40	\$2.63	\$3,113.92	\$2.70	\$3,196.80	\$2.65	\$3,137.60	
104 642	DOUBLE YELLOW LINE, TYPE 2	22	MI	\$715.00	\$15,730.00	\$987.00	\$21,714.00	\$975.00	\$21,450.00	\$1,000.00	\$22,000.00	
105 642	EDGE LINE, TYPE 2	1	MI	\$560.00	\$560.00	\$630.00	\$630.00	\$646.00	\$646.00	\$635.00	\$635.00	
106 642	INTERNATIONAL SYMBOL OF ACCESSIBILITY	33	EA	\$78.00	\$2,574.00	\$94.50	\$3,118.50	\$95.00	\$3,135.00	\$85.00	\$2,805.00	
107 642	PAINTED ISLAND	1,414	SF	\$2.25	\$3,181.50	\$0.53	\$749.42	\$0.55	\$777.70	\$0.55	\$777.70	
108 642	PARKING LOT STALL MARKING, TYPE 2	12,924	FT	\$1.05	\$13,570.20	\$0.61	\$7,883.64	\$0.62	\$8,012.88	\$0.65	\$8,400.60	
109 642	STOP LINE 12", TYPE 2, BIKEPATH	120	FT	\$2.25	\$270.00	\$3.15	\$378.00	\$3.25	\$390.00	\$3.20	\$384.00	
110 642	STOP LINE 24", TYPE 2	203	FT	\$2.80	\$568.40	\$3.15	\$639.45	\$3.25	\$659.75	\$3.20	\$649.60	
111 642	WORD ON PAVEMENT (72"), TYPE 2	1	EA	\$82.00	\$82.00	\$84.00	\$84.00	\$86.00	\$86.00	\$85.00	\$85.00	
112 644	LANE ARROW	17	EA	\$155.00	\$2,635.00	\$103.95	\$1,767.15	\$100.00	\$1,700.00	\$105.00	\$1,785.00	
113 644	WARNING STRIPES, 4" YELLOW, BIKEPATH	480	FT	\$3.40	\$1,632.00	\$8.40	\$4,032.00	\$10.00	\$4,800.00	\$8.50	\$4,080.00	
114 1551 COLS	B DETECTABLE WARNING, TYPE "E"	2	EA	\$265.00	\$530.00	\$350.00	\$700.00	\$160.00	\$320.00	\$115.00	\$230.00	
115 12002	ASPHALT BASED SEALER, WITH ZETAC, COMPLETE	3,227	SY	\$0.93	\$3,001.11	\$0.91	\$2,936.57	\$0.97	\$3,130.19	\$0.85	\$2,742.95	
116 12002	ASPHALT BASED SEALER, WITHOUT ZETAC, COMPLETE	65,039	SY	\$0.93	\$60,486.27	\$0.86	\$55,933.54	\$0.97	\$63,087.83	\$0.85	\$55,283.15	
117 12002	COAL TAR SEALER, COMPLETE	1,334	SY	\$1.10	\$1,467.40	\$0.86	\$1,147.24	\$1.25	\$1,667.50	\$1.15	\$1,534.10	
118 12006	PARKING BLOCKS REMOVED AND DISPOSED	10	EA	\$10.00	\$100.00	\$25.00	\$250.00	\$25.00	\$250.00	\$155.00	\$1,550.00	
119 12006	PARKING BLOCKS REMOVED AND RESET, COMPLETE	326	EA	\$27.00	\$8,802.00	\$50.00	\$16,300.00	\$22.00	\$7,172.00	\$180.00	\$58,680.00	

Bid Tabulation

City of Westerville, 64 E. Walnut Street, Westerville OH 43081

			Engineer's Estimate	\$2,225,000.00			Columbus Asphalt Paving, Inc.		Decker Construction		Strawser Pay	ring Co., Inc.	Shelly and Sands Inc.		
							1196 Technology Drive		3040 McKinley Avenue		e 1595 Frank Road		1515 Harmo	on Avenue	
							Gahanna	, OH 43230	Columbus, OH 43204		Columbus, OH 43223		223 Columbus, Ohio 4322		
							614-7	59-9800	614-488-7958		614-276-5273				
ITEM	<u>SPEC</u>	<u>CMS</u>	DESCRIPTION		QUAN	<u>ITY</u> UNI	Unit Price T Labor &	Total	Unit Price Labor &	Total	Unit Price Labor &	Total	Unit Price Labor &	Total	
120	12006		PARKING BLOCKS SUPPL	IED AND INSTALLED, COMPLETE	10	EA	\$72.00	\$720.00	\$85.00	\$850.00	\$60.00	\$600.00	\$260.00	\$2,600.00	
			FIRE STATION PAVEMEN	T TREATMENT											
121	253		PAVEMENT REPAIR, 7' WI	DE AND GREATER	15	SY	\$72.00	\$1,080.00	\$125.00	\$1,875.00	\$240.00	\$3,600.00	\$50.00	\$750.00	
122	254		PAVEMENT PLANING, 1-1	/2", ASPHALT CONCRETE	1,26	6 SY	\$3.90	\$4,937.40	\$5.47	\$6,925.02	\$3.40	\$4,304.40	\$3.00	\$3,798.00	
123	401		ASPHALT CONCRETE, SU	IR. COURSE, TYPE 1 (448)	53	CY	\$180.00	\$9,540.00	\$200.00	\$10,600.00	\$231.00	\$12,243.00	\$145.00	\$7,685.00	
124	423		CRACK SEALANT, RUBBE	RIZED	400	LB	\$0.93	\$372.00	\$1.52	\$608.00	\$1.80	\$720.00	\$0.95	\$380.00	
125	609		ASPHALT CURB, SPOT		55	FT	\$14.00	\$770.00	\$40.00	\$2,200.00	\$35.00	\$1,925.00	\$45.00	\$2,475.00	
126	642		PARKING LOT STALL MAR	RKING, TYPE 2	100	FT	\$1.05	\$105.00	\$4.20	\$420.00	\$4.25	\$425.00	\$4.25	\$425.00	
			ELECTRIC SUBSTATION	PAVEMENT TREATMENT											
127	417	COLS	ASPHALT EMULSION SLU	RRY SEAL, TYPE II	1,25	8 SY	\$2.40	\$3,019.20	\$2.47	\$3,107.26	\$3.15	\$3,962.70	\$3.25	\$4,088.50	
128	423		CRACK SEALANT, RUBBE	RIZED	500	LB	\$0.93	\$465.00	\$1.52	\$760.00	\$1.80	\$900.00	\$0.95	\$475.00	
			BASE BID TOTALS					\$2,131,724.82		\$2,149,727.83		\$2,201,141.17	ą	\$2,388,197.95	